1.

Consider the following state

menly 3.

1. Inthe fiest Lok Sabha, 1, single largest
party  in the "PPOSIon was  the
Swatantra Party,

2. In the Lok Sabha, 4 “Leader of the
Opposition” was recogmised for the first
time in 19649,

3 In the Lok Sﬂl}hﬂ. i a Party does nal
have a minimum of 75 membera, jts
leader eannot  he recognised 4y the
Leader of the ¢ Ippositinn,

Which of the statoments Biven above js/ure

correct 7

tal  1and3anly

(b 2only

(e} 2 and 3 only

dy 1,2anda 4.

Which of the following leaf modifications
occur(s) in the desert areas to inhibit waler
losg ?

1.  Hard and waxy leaves

2. Tiny leaves

3. Thorns instead of leaves

Select the correct answer using the code given

below

(a)  2and 3only

b} 2 only

(¢) 3 only

(di  1,2and3

J-A

C‘ERF-F-TIU { }

the NS5O 70" Round “Situntion

STl N , )
e} nl Survey of Apricultural
Asseaane .
I 1 t-\.'ituhl-l,"' CmAl l'll‘T th i [{JUUWIHH
I B !
slateneents

{. Rajasthan has the highest  pereentage
share of agricultural households nmong
‘ts rural households.

2 Out of the total agricultural househaolds in
the country, a little over 60 percent belong
to OBCs.

3. In Kerala, a little over 60 percent of
agrivultural househalds reported to have
received maximum income from sources
other than agricultural activities

Which of the statements given above isfare
correct 7

tat 2 and 3 only
(b)  2Zonly

el 1 and 3 only
id) 1,2and3

How is (he National Green Tribunal INGTD
different from the Central Pollution Control
Board (PO 9

L The NGT has been established by an

Act whereas the CPCR has been created

by an  execulive order of
Government .

The NGT provides  environmental
justice and helps reduce the burden of
litigation in the higher courts whereas
the  CPCR promotes  cleanhipeds  of
Streams and wells, amnd nims o improve
the quality of nir in the country.

the

[ o

L) - 3 s ey - m
Which of (he statements given above i¥8
COrreet

(a) | only

th) o only

ed Both 1 and 2
W Neither 1 nor 2
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3. Consider the followi
0w r -
1 g statements : 7. What isfare the consequence/consequences of
‘ Thﬂll’“rli“mem of India can place a ~a country becoming the member of the
particular law in the Ninth Schedul . f ‘Nuclenr Suppliers Group’f?
the Constitution of Indi rrel 15"
KL 1. It will have access to the latest and
2. The validity of a law placed in the Ninth most efficient nuclear technologies.
Schedule © i .
SR '1r:r1 Eittm: be examined by any 2. It automatically becomes a member of
[ I "
it 19 pEReriEntieatohe mnde: i «The Treaty on the Non-Proliferation of .
‘ Nuclear Weapons (NPT)".
Which of th te s —
sbrrect ] 8 Statsmelts given; aove i Which of the statements given above isfare
' correct ?
a1 only
! o (a) 1only
by '
2 only ) 2only
(¢) Both1landZ2 @ Both1 and 2
(dy Noither 1 mor 2 (d) Neither 1 nor 2
6. Which one of the following best describes the | g With reference to [ndia’s decision to levy an
term “Merchant Discount Rate™ sometimes equalization  tax of 6% on online
L] H i '?
SERD InREEt adveriisement services offered by
(4) The incentive given by @ bank to @ non-resident entities, which of the following
merchant for accepting payments statements is/are correct ?
h h debit cards ertalning to that _ , '
L r:;::g > F 1. It is introduced as a part of the Income
ank.
Tax Act.
id back b ks to their :
(), Theamoum paid hark oY hanl ® : 2. Non-resident  entities that offer
customers when they use debit cards for e _
: ; i advertisement services 10 India can
financial transactions for purchasing : : ‘
goods or services elaim a tax credit in their home country
under the “Double Taxation Avoidance
(¢} The charge to a merchant by a bank for |° Agreements”™.
' spti nts from his customers
BOERPIRG AT i e Select the correct answer using the code given
through the bank’s debit cards.
bhelow |
(d) The incentive given by the Government a1 unl:;r
tg merchants for promoting digital i
payments by their customers through (b) 2 only
Point of Sale {PoS) machines and debit {¢) Bothland2
cards. (d) Neither 1 nor 2
CYRF-F-TXLI (5-A)
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8, Consider the following statementy -
; 11.

B The Fiseal Responsibility and Budget
Management (FREBM) Review
f'"“”“'”ﬁ*'l‘ Keport has recommended a
debt H_r GO ratio of 60% for the general
[mmhl.m.JdI povernment by 2023
Cﬂmpﬁs:lﬂg ‘I_U.rl';. r._""' thn CEI‘I-'[:I‘.EL]
Government and 20% for (he Stale
Covernments,

% The Central Government hays domestic
liahilities of 21% of GDF as compared to
that of 49% of GDP of the State
(Governments.

3. As per the Constitution of India, it is
mandatory for a Stale to take the
Central Government’s  consenl  for
roising any loan if the former owes any
oulstanding liabilities to the latior,

Which of the stalements given above iw'nre T

correct 7 ’

{a) lonly

ik} 2and3only

fey 1 and3only

(dy 1,2anddd

10. Consider the following statements

1. The quantity of imported edible eils is
more than the domestic production of
edible oils in the lasi five years,

2.  The Government does not impose any
cuktoms duty on all the imported edible
oils a8 a special case.

Which of the statements given above isfare

rorrect 7

ia} 1only

by 2aonly

ic) Bothland?2

(d) Neither 1 nor 2

CYRF-F-TXLI (7T-4)

He wrote biographies of Mazzini, Garibaldi,
Shivaji and Shrikrishna; atayedd in America

for some time: and was also elected to the

Central Assembly. He was

iat Aurobindo Ghosh

{bl  Bipin Chandra Fal
(c) L-ﬂluhl.-ujpnt Rai

idi  Matilal Nehru

Consider the following statements @

1.  Aadhaar card can be used as a proof of

ritizenship or domicile.

2. Once issued, Aadhaar number cannot be

deactivated or omitted by the [ssuing

Authority.

Which of the statements given above is/are

correct 7
fal 1only
{b) 2 only

(&) Bothland2

(d} Neither 1 nor 2
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13.  Which of the fullowing hasthave shyunk | 16, Consider the following statements :

immenselvidricd up in the
" went past due to . _ .
human activities 7 1.  Capital Adequacy Ratio (CAR) is the
1 Aral 8 amount that banks have Lo maintain in
. Aral oea
the form of their own funds to oifset

2. Black Sen any loss that banks incur if the

3. Lake Baikal geeount-holders fail to repay dues,
CAR is decided by each individual bank.

Select the correet answer using the code given o
below : ; :
Which of the statements given above [slare
ial 1 only I
ibl 2and3 o
[a) oniy
ich  2only
(b} Z2only

tel) 1 and 3
{¢) Bothland2

"

{dy  Neither 1 nor 2

“Rule of Law Index” is released by which of

l "Ii
the following 7
17. The identity platform ‘Aadhaar’ provides open
(a)  Amnesty International =Application Programming Interfaces (APIs)".
ib)  International Court of Justice What does it imply ?
(©) The Office of UN Commissioner for 1. It can be integrated into any electronic
Human Rights A
v tice Projeet e
i) Worli Justico’s rax ¢.  Online authentication using ins 13
posaible.
_ Which of the statements given above isfare
| 15, Which one of the following links all the ATMs 5
vorrect
in India ?
St ]
fa)  Indinn Banks' Assoctation (a 1only
(bl National Securities Deposilory Limiledﬁ" (b} 2only
e
e} MNational Paymenis Corporativn of [ndia fe} Bothland2
- 4 -1
idi  Neither 1 nor 2

idi  Reserve Bank of India

CYRF-F-TXLI (9-A)
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4.

19.

Z0,

Very recently, in which of the following
countries have lakhs of people either suffored
from severe famine/acute maloutrition or died

due to starvation cansed hy warfethnic
ponflicts 7
tal  Angela and Zambia

Y

Moroeco and Tunisia
iy YVenezuela and Colombia

id* Yemen and South Sudan

Regarding Woad’s Dispateh, which of the

following statements are true 7

1, Grants-in-Aid system was introduced,

2, HEstablishment of universities was
recommended.

3.  English az a medium of instruction at all
levels of education was recommended.

Select the correcl answer uging the code given

below

(a)

b

1 and 2 only
2 and 3 only
(¢}  1anddonly
idy 1,2and3

With reference to the Parliament of India,

-"""'I-i.:itir:l‘.l of the following Parliamentary

CYRF-F-TXLI

_(b)

Commitlees scrutinizes and reporia to the
the to make
regulations, rules, sub-ruleg, by-laws, ete

conferred by the Constitution or delegated Ly

House whetiher

POWETH

the Parliament are being properly exercised
by the Executive within the scope of such
delegation 7

tal  Committes on Government Assurances
Committee on Subordinate Legislation
(e}l Itales Committeo

(ed}

Buziness Advisory Committee

21.

22,

(11-A)

Consider the following statements :

1.  As per the Right to Educsation (RTE}
Act, to be eligible for appointment as a
teacher in & State, a person would be
reguired to the
qualification laid down by the concerned
Gtate Council of Teachor Education.

possesy iU

2. Az per the RTE Acl, for teaching
primary elasses, a candidate is reguired
to pass a Teacher Eligibility Test
conducted
National Council of Teacher Education
guidelines,

in accordance with the

3. In India, more than 90% of teacher
education institutions are directly under
the State Governments.

Which of the statements given above isfare
correct 7

(a) 1and2
{b) Zonly
(e) land3
(d) 3 only
Consider the following pairs :
Tradition State
1. - Chapchar Kut festival — Mizoram
2. Khongjom Parba ballad — Manipur
3. Thang-Ta dance — Bikkim

Which of the pairs given above isfare correct 7

(a)  1only
(b)) land?2
(e} . 3 onl.y
(d) Z2and3
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w1, Consider the following statements 20

1. The Fomd Safety and Standards Act,
206 replaced the Prevention of Food
Adulteration Act, 1954,

J, The Food Safety and Standards
Authority of India (FSSAD is under the
charge of Director General of Health
Sepvicea in the Union  Ministry of
Health and Family Welfare.

[ =

Which of the statements given above isfare

correct ?

ial 1 enly

bt 2only

26.

(¢l Both1and 2

{dy  Neither 1 nor 2

27,

24. The term “two-state solution” is sometimes

mentioned in the news in the context of the

afTnirs of

in) China

{h) lsrael

fel Iraq

idy  Yemen
CYRF-F-TXLI (13-A)

With reference Lo the provisions made under

the National Fued Seeurity Act, 2013,

consider the following statements :

1. The families coming under the calegory
of ‘below poverty line (BPLY only are
eligible to recewve gubsidised food
grains.

2 The eldest woman in a household, of age
18 years or above, shall be the head of
the household for the purpose of
igauance of a ration card.

3. Pregnant waornen and lactating mothers
are entitled to a ‘take-home ration’ of
1600 calories per day during pregnancy
and for six months thereafter.

Which of the slatements given above isfare

correct 7

{n) 1land2

by 2only

icy land3d

dr 3only

India enncted The Geographical Indications of

Cloods (Registration and Protection} Act, 1998

in order to comply with the obligations to

(a} [LO

(by IMF

{¢y UNCTAD

(dy WTO

Consider the following statements ;

1. In India, State Governments do not
have the power to auction non-coal
e,

2. Andhra Pradesh and Jharkhand de not
have gold mines.

3. Rajasthan has iron ore mines,

Which of the statements given above is/are

carrect ¥

{a) 1and?2

by  2only

fc} land3d

“{d) Jonly
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pd

With reference to digital payments, consider

the {nllowing statements :

1. BHIM app allows the user to transfer
money to anyone with a UPL-enabled

bank aceount.

9. While a chip-pin debil card has four
factors of authentication, BHIM app has

only two factors of authentication.

Which of the statements givenlabuw:- in'are

correct 7
fal  1only
thl 2 only

ic) Bothland?2

idy  Neither 1 nor 2

31. Regarding Money Bill, which of the following

29. Among the following cities, which one lies on
a longitude closest to that of Delhi ?
32.
tal Bengaluru
ibt  Hyderabad
el Nagpur
{dy Pune
30. International Labour Organization's
Conventions 138 and 182 are related to
fa) Child labour
ib}  Adaptation of agricultural practices to
global climate change
fe)  Regulation of food prices and food
BOCUTILY
(d)  Gender parity at the workplace
CYRF-F-TXLI (15-A)

statements is nof correct ?
() A bill shall be deemed to be a Money .
Bill
relating  to

if it contains only provisions

impasition,  abolition,
remission, alteration or regulation of
any tax.

{by A Money Bill has provisions for the

custody of the Consolidated Fund of

India or the Contingency Fund of India.

(¢} A Money Bill is concerned with the
appropriation of moneys out of the

Contingency Fund of India.

td) A Money Bill deals with the regulation
of horrowing of money or giving of any

guarantee by the Government of India.

wWith reference to the election of the President

of India, consider the following statements :

1. The value of the vote of each MLA

varies from State to State.

2, The value of the vote of MPs of the
Lok Sabha is more than the value of the

vote of MPs of the Rajya Sabha.

Which of the statements given above is/are

correct 7
(a) 1only
(b) 2 only

(e} Both 1and 2
(d}  WNeither 1 nor 2
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38, In the Indian context, what is the implication | 38.
of ratifying the ‘Additional Protocol' with the
‘International  Atomic  Energy  Agency
(IAEAY 7
al  The cvilian nuclear reactors come
under IAEA safeguards.

b The military nuclear installations come
under the inspection of IAEA,

¢ The country will have the privilege to
buy wuranium from the Nuclear
Suppliers Group (NSG).

id)  The eountry automatically becomes a
member of the NSG.

34. Consider the following countries :

34.
1. Australia
2. Canada
3.  China
4 India
[ Japan
8. UBA
Which of the above are among the ‘free-trade
partners’ of ASEAN ?
fa) 1,2, 4and5
ib) 3,4,5and 6
¢/ 1.3,4and5
idi 2,3, 4and 6
YRF-F-TXLI {17 -A)

With reference to the ‘Global Alliance for
Climate-Smart Agriculture (GACSAY, which
of the following statements is/are correct ?

1. GACSA is an outcome of the Climate
Summit held in Paris in 2015.

3  Membership of GACSA does not create
any binding obligations.

3. India was instrumental in the creation
of GACSA.

Select the correct answer using the code given
below :

ia) 1 and 3 only

{b) 2only

{¢) 2and3only -

idr 1,2and3d

Which of the following is/are the aim/aims of
“Digital India” Plan of the Government of
India ?

1. Formation of India’s own Internet
companies like China did.

2. Establish a policy framework to
encourage  OvVerseas multinational
corporations that collect Big Data to
build their large data centres within our
national geographical boundaries.

3. Connect many of our villages to the
Internet and bring Wi-Fi to many of our
schools, public places and major tourist
centres.

Select the correct answer using the code given

below :

(a) 1 and2only
(b Bonly =
(c} 2and3only
(d) 1,2and 3
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39,

Consider the following pairs :
Towns sometimes Country
mentioned 1n news

1 Aleppo —  Syria

2 Kirkuk —  Yemen

3. Mosul —  Palestine

4 Mazar-i-sharif —  Afghanistan

Which of the pairs given above are correctly
matched 7

ial land2
bt 1and4
el 2and3
idl Jand4
In the Federation established by The

Government of India Act of 1935, residuary
powers were given to the

ia) Federal Legislature

iby  Governor General

et Provincial Legislature

id

Provincial Governors _

Consider the following statements :

1. The Speaker of the Legislative
Assembly shall vacate histher office il
he/she ceases to be a member of the
Assembly.

2. Whenever the Legislative Assembly is
dissolved, the Speaker shall vacate
his'her office immediately.

Which of the statements given above is/are
correct ?

ia} 1only
ik}  2only
ic) Both ] and 2
id) Neither 1 nor 2
CYRF-F-TXLI (18 -

41.

42.

43.

Al

Which one of the following reflects the most
appropriate relationship between law and
liberty ”

If there are more laws, there is less

{al
liberty.

(bl If there are no laws, there is no liberty.

(¢} If there is liberty, laws have to be made
by the people.

(1 If laws are changed too often, liberty is
in danger.

Consider the following statements ;

1. No criminal proceedings shall be
instituted against the Governor of a State
in any court during his term of office.

2 The emoluments and allowances of the
Governor of a State shall not be
diminished during his term of office.

Which of the statements given above is/are

correct ?

in) 1only

(by 2eonly

(¢) Bothland2

(d} Neither 1 nor 2

The well-known painting “Bani Thani”
belongs to the

{a) Bundi school

{b)  Jaipur school

(¢) Kangra school

(d) Kishangarh achool

What is “Terminal High Altitude Area
Defense (THAAD)", sometimes seen in the

news 7

(a)__An Israeli radar system

(b)  India's indigenous anti-missile
programme

(¢}  An American anti-missile system

(d) A defence collaboration between Japan

and South Korea
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44. With reference to cultural history of India, | 4§, Which one of the following sintenents

consider the following statements : correctly describes the meaning of legal
1. Most of the Tyagaraja Kritis are tender money 7
devotional songs in  praise of Lord (a) The money which is tendered in courts
Krishna. of law to defray the fee of legal cases
2. Tyagaraja created several new ragas. (b) The money which a creditor is under
1 Annamacharya and Tyagaraja are compulsion to accept in settlement of
contemporaries. his claims
4. Annamacharva kirtanas are devotional ¢} The bank money in the form of cheques,

songs in praise of Lord Venkateshwara. drafts, bills of exchange, etc.

Which of the statements given abuve are (d) The metallic money in circulation in &
country

correct 7
tal 1and 3 anly
47. If a commodity is provided free to the public

(b1 2 and 4 only
by the Government, then

v 1,2 and 3
{a) the opportunity coct 18 zero.
idr 2,3 and 4 . i
ib)  the opportunity cost is ignored.
¢} the opportunity cost is transferved from
the consumers of the product to the
45. Which of the following are regarded as the tax-paying public.
main features of the “Rule of Law™ 7 (d) the opportunity cost is transferred from
1 Limitation of powers the consumers of the product to the
Government.
2 Equality before law

3. People's responsibility to the
48. Increase in absolute and per capita real GNP

Crovernment
doe moi connote a higher level of economic

4. Liberty and civil rights
iberty and civil rg development, if

Select the correct answer using the code given : ) )
' B ' # {a)  industrial output fails to keep pace with
bt agnicultural output.

O Tano Swy (b}  agricultural output fails to keep pace

ih) 2 and 4 only with industrial output.

(¢) 1,2 and4only ic) poverty and unemployment increase.

id}  imports grow faster than exports.

id 1,2 3and 4

CYRF-F-TXLI (21-A)
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51,

i-ul‘jﬂid[‘r the [ﬂuﬂ“‘inﬂ' Bt“llﬂ'ﬂfﬂh " 83

Human capital formation as g concepl is
better explained in terms of a process which
enables

1. individuals of a country to accumulate
more capital,

inrn-miinghthe knowledge, skill levels
and capacities of the people of the
country,

3 accumulation of tangible wealth.

[ =

4 accumulation of intangible wealth.
Which of the statements given above is‘are
correct 7

inl land?2

by 2only

¢/ 2and4

d) 1,3 and 4

Despite being a high saving economy, capital
formation may mof result in significant
increase in output due to

ial weak administrative machinery

by illiteracy
i¢c)  high population density
‘dl  high capital-output ratio

After the Santhal Uprising subsided, what
was/were the measure/measures taken by the
colonial government '."'_

1. The territories called
Paraganas were created.

It became illegal for & Santhal to
transfer land to a non-Santhal.

Select the correct answer using the code given
below :

fal  1only

‘Santhal

2.

‘b 2 only
ici PBoth1and2
id) Neither 1 nor 2

(23-A)

-YRF-F-TXLI

Economically, one of the results of the British
rule in India in the 18" century was the

ia} increase in the export of Indian

handicrafts
(by growth in the number of Indian owned
factories

¢/ commercialization of Indian agriculture

id) rapid increase in the urban population

If the President of India exercises his power

as provided under Article 356 of the

Constitution in respect of a particular State,

then

(a) the Assembly of the State s
automatically dissolved.

(b} the powers of the Legislature of that
State shall be exercisable by or under

the authority of the Parlinment.
(¢} Article 19 is suspended in that State.
idl  the President can make laws relating to
that State.
Consider the following pairs .
Craft Heritage of
1.  Puthukkuli shawls — Tamil Nadu
— Maharashtra

2.  Sujni embroidery
3. Uppada Jamdani saris — Karnataka

Which of the pairs given above is/are correct ?

ial 1only
ib) 1and2
e} 3only
(di 2and3
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g The term “sixth mass  extinetion/sixth i

extinction” is often mentioned in the news in

the context of the discussion of

(a)  Widespread monoculture practices in
agriculture and large-scale eommereial
farming with indiscriminate use of
chemicals in many parts of the world
that may result in the loss of good

native ecosystems,

(bt Fears of a possible collision of a
meteorite with the Earth in the near
future in the manner it happened
65 million years ago that caused the
mass extinction of many species

including those of dinosaurs.

fc) Large scale cultivation of genetically 62.

modified erops in many parts of the
world and promoting their cultivation in
other parts of the world which may

cause the disappearance of good native

crop plants and the loss of food

biodiversity.

fd)  Mankind's over-exploitation/misuse  of

natural resources, frﬂgmmlml.mmﬂmﬂ of

nﬂtuml. hahitats, destruction  of

ecosystems, pollution and global climate

change.

E1“:#"=-T::u:r_i (27-A)

With reference to the Indian Regional
Navigation  Satellite  System {IRNSS),
consider the following statements :

1. IRNSS has three satellites in
geostationary and four satellites in

geosynchronous orbits.

2, IRNSS covers entire India and about
5500 zq. km beyond its borders.

3. India will have its own satellite

navigation system with full global
coverage by the middle of 2019.

Which of the statements given above isfare

correct 7

{a) 1only

(b} 1and 2 only
{c) 2and3only

{d} None

Consider the following phenomena :
1. Light is affected by gravity.
2. The Universe is constantly expanding.

3. Matter warps its surrounding

space-time,

Which of the above is/are the
prediction/predictions of Alberi Rinstein's
General Theory of Relativity, often discussed
in medig ?

(@)  1pnd 2 only
(b} 3 only
e} 1and3 only

(d) 1,2and3
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gl With reference 1o the Genetically Modified | 85.  Which of the following statementa best

mustard (GM mustard) developed in India, describes “carbon fertilization™ ?
consider the following statements - (a)  Ilncreased plant growth due to increased
1 GM mustard has the genes of a soil concentration of carbon dioxide in the
bacterium  that give the plant the atmosphere
property of pest-resistance to a wide (bt Increased temperature of Earth due to
varety of pests. increased  concentration  of  earbon
2 GM mustard has the genes that allow dioxide in the atmosphere ‘
the plant cross-pollination  and (¢t Increased acidity of oceans as a result of
hybridization. increased conce atration of carbon
3 GM mustard has been developed jointly dioxide in the atmosphere
by the IARl and Punjab Agricultural (d)  Adaptation of all living beings on Earth
University. to the climute change brought about by

the iI'IL‘l‘EII:H"ll concentration of carbon

Which of the statements given above is/are dioxide in the atmosphere

correct ?
ta)  1and 3only 66. When the alarm of your smartphone nngs in
by 2only the morning, you wake up and tap it to stop

the alarm which rausces your geyser to be
switched on avtomatically. The smart mirror
dr 1,2and 3 in vour bathroom shows the day's weather
and also indicates the level of water in your

overhead tank. Aler you take some groceries

el 2and 3only

£4. Consider the following pairs fram vour refrigerator for making breakfast, it
Terms sometimes Context ! Topic recognises the shortage of stock in it and
SR places an order for the supply of fresh grocery
_ items. When you step out of your house and
I Belle I1 —  Antificial lock the door, nll lights, (ans, gevsers and AC
experiment latelligence machines get switched off automatically, On
2. Blockehain —  Digital/ your wany to office, your car warns yvou sbout
technology Cryptocurrency traflic congestion ahead and  suggests an
; i ; —  Particle alternative route, and il you are late for a
4. CRISPR - Caet gl mevting, it sends a8 message to your office
W necordingly.
Which of the puirs given above infare correctly o the context of emerging communication
mintehed ? technologies, which one of the following terms
al  iand8aaly best npplies to the above scenario ?
tar Border Gatewny Protoesl
by 2only tht  Internet of Things
ey 2anddonly (el lnternet Protocol
(di 1,2and3 () Virtual Private Network
(20-A)

“YRF-F.TXLI
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With

| reference to splar Power production in | 70,

India, consider the follgw:

OWing statements -

1. Indiais the third largest in the world i
Tlhe manufacture of silicon wafers used
in photovaltaic units,

2. The solar power tariffs are determined
by the Solar Energy Corporation of
India,

Which of the statements given above isfare

correct 7

fal  lonly

(b) Z2only

(e} Bothland?2

{dl Neither 1 nor2 TR

The staple commodities of export by the

English East India Company from Bengal in

the middle of the 18™ century were

{a} Raw cotton, oil-seeds and opinm

{b) Sugar, salt, zinc and lead

{c) Copper, silver, gold, spices and tea

(d)  Cotton, silk, saltpetre and opium 72.

Which one of the following is a Wvery

significant  aspect of the Champaran

Satyagraha ?

(@) Active all-India participation of lawyers,
students and women in the National
Movement

(b) Active involvement of Ilhiit and Tribal
communities of India in the National
Movement ;

tey Joining of peasant unrest to India's
National Movement

" :n the cultivation of

{d) Drastic decrease 11 :

plantation creps and commercial crops
CYRF-F.TXLI \at=A)

Who amaong the following were the founders of
the “Hind Mazdoor Sobha” established in

19487

{a} B. Krishna Pillai, E.MS.
Namboodiripad and K.C. George
(b} Jayaprakash Narayan, Deen Daval

Upadhyay and M.N. Roy
el O Ramuswamy Lyer, K. Kamaraj and
Veeresalingam Pantulu
Ashok Mehta, T.5. Ramanujam and
(3.G;. Mchta

{d)

With reference to the religious practices in
India, the “Sthanakvasi” sect belongs to

{a} Buddhism
{b} Jainism

(e} Vaishnavism
id) Shaivism

With reference to the cultural history of India,
consider the following statements :

1. White marble was used in making
Buland Darwaza and Khankah at
Fatehpur Sikri.

2.  Red sandstone and marble were uzed in
making Para Imambara and Ruini
Darwaza at Lucknow,

Which of the statements given abave iafare
correct 7

(a} 1only

)  2enly

{c} Bothland?2
{d)" Neither 1 nor 2
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13 Which one of the fo)lgy,

L discussed abuag 1 travellers 6.  Which of the [bllowing led Lo the introduction
5 ] £1] : : .

dinmond mines of [ndiy 9 hthds and of English Fducation in India ?

1. Charter Act of 1813

9 (leperal Committes of Public Instruction,
15449

3. QOrientalist and Anglicist Controversy

ial  Francois Berpjer

b1 Jean-Baptiste Tavernier

{7 Jean de Thevenat Salect the correct answer usiog the code given
bl
(d)  Abbe Barthelemy Carre (a) 1 and2only

(tht 2 only
(¢} 1and 3 only

idr 1, 2and3d

1, With reference to Indian history, who amiong

the fullowing ie a future Buddha, yet to come | 77.  Which one of the following is an artificial
to save the world 7 lake 7
ta)  Kodailanal (Tamil Nadu)
b Holleru {(Andhra Pradesh}
(b} Lokesvara fe).  Nainital (Uttarakhand)
' ()  Renuka (Himachal l*radﬂsh'l

ta}  Avalokiteshvara

tel Maitreya

TR,  With reference to Pradhan Mantri Kaushal

d}: ‘Padmapenl Vikss Yojana, consider the following

statements

1. Itisthe lagship scheme of the Ministry

1% Which one of the following statements does of Lahowr and Employment.,
not apply to the system of Subsidiary Alliance 2. L among aller ﬂ'finﬁ“s, will also impart
training in sofl skills, entrepreneurship,
intraduced hy Lord Wellesley ? financial and digital literacy,
{a) To mainiain a large standing army at 3, It aims to align the competencies of the
ather's eXpemEe unregulam.il workforce of the country to
' the National  Skill  Qualitication
(h) To keep India safe from Napoleonic Framework,
danger Which of the statements given above is/are
| w7
(¢} To epecure 8 fixed inepme for the :‘:“ "; H ot
Company h) 2 only
{d} To establish British paramounicy over 5 Bandaenl
- the Indian Stated fdl 1, 2and 3
o {(33-A)
“TRE-F-TXL
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-4, In 1920}, which of 1he
. #, consider

fallowing changed its | g2, With reference to agricultural soil

name to “Swarajya Sahhy" 2
the following statements :

ial  All India |
|UTI_1L' Hu]u L-::aguu 1. A high sontent of l‘rrﬁill'lif' makter in goil

ikl Hindu Mahasabha drastically reduces itz water holding
fed South Indian Li}mrn] Federation |.':-1|:mr!'|!r'-

9 Hoil does not play any role in the sulphur

idt The Servants of Tndia Society
l_!J.'L‘]t'.

gation over a period of lime can

3. lrri
#0, Which among the following events happened contribute to the salinization pf some
' gl P
enrliest 7 agricultural lands,

{n)  Swami Daynnand established Arya Which of the statements given nhove 1s/are

Samaj. eorroct 7
(b}  Dinabandhu Mitra wrote Neeldorpan. a1l 1and2only
ic)  Bankim Chandra Chattopadhyay wrote (bt 3 only
Anandmath. (e} 1and3donly
(d]  Satyendranath Tagore became the first @) 1,2and3

Indian to succeed in the Indian Civil

Services Examination.

81, The Partnership for Action on Green Feonomy
(PAGE), n UN mechanism to assist countries

ﬁi:’__,}.’ﬂ'ni-;h of the following isfare the possible
transition towards greener and more inclusive

consequence/s  of heavy sand mining in
pepnomies, emerged at

riverbeda ?

1 Decreased galinity in the river (a} The Earth Summit on Sustainable

Development 2002, Johannesburg

2 Pollution of groundwater
{b) The United Nations Conference on

water-table

ing of the ]
3. Lowenng Sustainable Development 2012,

the eode given

i Ef! r I.'il'l 'S a .
Gelect the correct answer USILE Rio de Janeiro

below : () The United Nations Framework
(a} 1only Convention on Climate Change 2015,
(b} 2 and 3 only Paris

(c) 1 and 3 only (d)  The World Sustpinable Development

() 1, 2and3 Summit 2016, New Delhi

CYRFF-TXLI (35-A)
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#8. “Momentum for Change - Climate N 1|91
1 "o . T . et T
Now™ 1s an initiatjve launched Ly

{a) "I:ht lnlrrgm'urnmnutn]
Climate Change

by The UNEP Seeretariag
(e} The UNFCOC Secretariat

Panel on

(d) The World Meteorological Organization

g9. With reference 1o educational institutions

during colonial rule in India, consider the
following pairs ;

Institution Founder
1. Sanskrit College —  William
at Benaras Jones
2, Caleutta Madarsa — Warren
Hastings
3. Fort William —  Arthur
College Wellesley

Which of the pairs given ahove isfare correct ?
fa) land?2

by 2 only
fe) 1 and 3
(d) 3only 92.

90, Congider the following poirs :

Regions sometimes Country
mentioned it Rews
1. {Catalonia —  Spain
2. Crimoed — Hungary
3. Mindanao —  Philippines
4,  Oromia —  Nigeria

Which of the pairs given ahove are correctly

matched 7

(ay 1,2and3
(by 3 and 4 only
() 1 and 3 only
(y Z2andd only

CYRF-F-TXLI (389-A)

Consider the following events

1. The first democratically eleclod
communist party government formed in
a State in India.

2. India’s then largest bank, ‘Imperial
Bank of India’, was renamed ‘Stale
Bank of India’.

i Air India was nationalised and became

the national carrier.
4. oz became a part of independent
India.
Which of the following iz the correct
rhronological sequence of the above events ?
{a) 4-1-2-4U
(h) 3-2-1-4
¢y 4-2-1-3

(d} 3-1-2-4

Right to Privacy is protected as an intrinsic
part of Right to Life and Personal Liberty.
Which of the following in the Constitution of
India correctly and appropriately imply the
above statement ?

r

{a} Article 14 and the provisions under the
42" Amendment to the Constitution

{(b) Article 17 and the Directive
Principles of State Policy in Part IV

(e} Artiele 21 and the freedoms guaranteed
in Part I11

(d) Article 24 and the provisions under the
440 Amendment to the Constitution
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83. Conszidor the following - i
1. Arcea nut
2, Barley
3.  Coftee
4. Finger millet
. Groundnut
G. Sezsamum
7. Turmeric
The Cabinet Committes on Economic Affairs
has announced the Minimum Suppoert Price
for which of the above 7
{al 1,2, 3and Tonly
bl 2,4, 5 and G only
f
ier 1,3, 4,5 and 6 only 04,
id) 1,2,3.4, 5 6and 7
94. I[n which one of the following Stintes is Pakhui
Wildlife Sanctuary located ?
(a3 Arunachal Pradesh
(bt Manipur
iet  Meghalaya
(dy Nagaland
CYRF-F-TXLI (41-A)

With reference 1o Indin's satcllite launch
vohicles, consider the following statements

1. W Vs launch the satellites wselul for
Farth resources moniloring  whereas
GSLYs are desipned mainly to launch
communication sateliites,

i Gatellites launched hy PSLV appear to
remain permanently fixed in Lhe same
position in the sky, as viewil from a
particular location on Earth.

3. GSLY Mk III is a four-staged launch
vehicle with the first and third stages
using =olid rocket and the
second and fourth stages using liquid
rockel pigines.

motors,

Which of the statements given above isfare
correct 7

{a) 1lonly
{b}  2and3d
{e}  land?2
idl  Jonly

With reference to the governanee of public
sector banking in India, consider the following
statemientd @

1.  Capital infusion into public sector banks
by the Governmenl of India has steadily
increazed in the last decade.

2. To put the public sector banks in order,
the merger of nssoviate hanks with the
parent State Bank of Indin has been
affected.

Which of the statements given above isfare
correct 7

ta) 1only

thy  2only

{c] Bolthland?2
{d) Neither 1 nor2
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Consider the following items - 9.  Consider the following :

1.  Cereal grains hulled 1. HRirds
2. Chicken eges cooked . ] Dust blow ing
3. Rain

3. Fish processed and canned
4. Wind blowing

4.  Newspapers containing  advertising
material Which of the ahove spread plant diseases ?
Which of the above tems isvare exemptod iad 1and3donly

under GST ( Goods and Services Tax) ?
iy  dand 4 enly

ia) 1only ieh 1,2 and 4 only

ib)  2and} only i 2, 3and 4
fe} 1,2and 4 only

idy 1,2, dand 4 . =1 ;
100, With reference to organic farming in India,

vonsider the following statements ;

l. The National Progromme for Organic
98. Consider the foliowing satements : Production’ (NPOI" a8 operated  under
of “Critical Wildlife thee guidelines amil directions ol the

1. The defimtion
Unisn Ministry of Rursl Developmont.

Habital™ is incorpornted in the Forest
Rigghts Act, 2006. 2. “The Agricultural and Processed Food
Products Export Development
Authority” {APEDAI functions as the
Seeretarial for the implementation of

2 For the first time in Indin, Baigas have
been given Hahitat Ryghts,

4 Union Ministry of Environment, Forest NPOP
and Climate Change oficially alecides ’ '
and declares  Hahitat  Hights far 3. Sikkim hasz become Indias Grat fally

Primitive and Vulnerable Tribal Groups organic State.

in @ny i al [I‘Idll'l-- i
inany pa Which of the stalemenls given above isfare

Which of the statements given above isfure correel ?
enrrect 7
{a) ) and 2 only

tal Land 2 anly

(b} 2 and 3 only (b 2 and 3 only

fer 3aumly fel  Jonly
el b 1.2and 3 i) 1,2 nnd 3
CYRF-F-TXLI (43-A)
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